E 4 & H 2 os | JL— T e = ® H 2 o® | ) L—
kA K 6 . . . S .
KB B | N 100m %‘;5. ?; _ GlanzF 1.00.79 T 100m jﬁ: 12 3)21 1 Clam A 5285
HE A 6 100m = 4 GlanzA 52.86 1 NI
B - 1363 o . i80mH: 14.25
TE . 13.30 SR - E AN ERZAN S T 1 GlanzA 52.86
B OBk | e 100m T 9 3 GlanzA 52.86 1 - T
KB - 13.46 N e e FETREBE : 3m97
=% 14.2] ne #F | 6 [avsqarrB EICE s 4
#E k| 6| toom =% 7 lGlanzF 1.00.79 7 A b Zlm
R - 14.13 Sk 0% | 16 |2z e EIERE ; 3NS5 Glanz F 1.00.79
HE BEXR| 5 100m 15. 31 GlanzB 59.72 8 ” Y AN E - 15m23 e
s A [ as] toom  TEIIEE N ol Glanzs so72 | g [EL _FEELI 6] T00m 1593
SRk - 14.84 e F5% - 14.98
- EH KBE | S 100m e 4 GlanzB 59.72
g @ | s | tom P44 s 1513
- SR - 1449 A $EXRIE | 5| 100m 16. 33 GlanzF 1.00.79
G & | 4| 100m 15. 49 2 T @z | 5| 100m 16. 30
Wig = e 100m 16. 02 GlanzD 1.09.40 7am iz 5| 100m 15. 47 GlanzB 59.72
=[E =8 | 4| 100m 16. 60 ©3% = | A4 100m 16.07 7 | Glanzc 1.04.36
=% fE | 4| 100m 17. 64 GlanzD 1.09.40 AF @ | ~3| 100m 17.07 7 | Glanzc 1.04.36
EAR =D | 4| 100m 16. 31 GlanzC 1.04.36 | 4 | & &= | 43| 100m 18. 11 GlanzD 1.09. 40
Pl =% | 4| 100m 15. 59 3 St yE | a3 100m 18. 11 GlanzD 1.09. 40
By Mk | M 100m 17. 84 [ BT | /3 100m 17.84 GlanzE 1.16.32
YET HEA | 4| 100m 16. 74 gt LB [ 100m 18. 62 2 | GlanzE 1.16.32
ME g | 4| 100m 16. 38 GlanzC 1.04.36 | 4 | #m@E & | i 100m 19. 66 3
=58 K& | 3 100m 19.12 GlanzE 1.16.32
EE BA | 3] 100m 16. 98
#ok =3 | 2] 100m 17. 44 4
aa &8 | 12| 100m 17. 41 3
RE BA | 2|  100m 18.23 8
s XK= | /M 100m 19. 45 5
BEFE &K M 100m 19.55 6 GlanzE 1.16.32

XIEMLIE2EE SFETHELTLET,




